QUADRATIC FUNCTIONS TESTR
1. Which of the following represents a quadratic function opening downwards?
(A) y=3(x-1) B y=3x&-1) (O y=-3x-1) Dy=-kx-1)

2. Which graph does NOT represent a function?
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3, Which is the y-intercept for the guadratic function y = = 2%+ 107

(A) =10 (B) 10 <y -2 D) 2
4, Which quadratic function graphed below has a vertex at (2, ~ 4 )7

A (B) ¥

(D}

5. What is the axis of symmetry for the quadratic function y = 2K - 8x - 57
(A) x=2 B) x=-2 C) x=4 D) x=-4

6. What is the domain and range of the quadratic function graphed?

Y
i I (A) Domain: {x|-1=<x<3;xeR} Range: {x]y>-8;veR}
1 " £ (B) Domain: {x|-1=<x<3;xeR} Range: {x|ys—8;yeR}
B 3 if 1 (C) Domain: {x|xeR} Range: {x]y <-8;yeR}
;\ / (1) Domain: {x}xeR} Range: {(x]y>-8;yeR}
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7. Which statement is correct for the function graphed helow?
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(A) There is a maximum value of 3. (B} There is a maximum value of 2.
{C) There is a minimum value of 3. (D) There is a minimum value of 2.

8. Determine the equation of the axis of symmetry for the parabola that passes through
thepoints (~6,0)and (4,0). (A} x=2 (B) x=-2 () x=1 D) x=-1

9. Which represents the quadratic function y = -2(x + 1)(x - 3) in standard form?

(A) y=-2x*+6 B) y=-2x*+4x-6
(©) y=-2-dx-6 @) y=-2x"+4x+6

10. Which quadratic function opens downwards and has a vertex (0, —3)?
(W) y=(x+37 B y=~(x+3) (O y=x-3 (D) y= -3
11. What is the equation of the axis of symmetry for the finction y = -4(x -2 )? + 37
(A) x=-2 By x=2 (C) x=8 ) x=-8

12. Which graph represents the function y = (x 4 Y+ 37

(A) (B)




13. Which quadratic function has a minimum value of 77

A y=%(x+1)2+7 ®) y=-l(x+1F+7

«© yﬂé(xﬂ)z-"f D) yﬁ—u%(x+1)2—7

14. Which quadratic function has zero x-intercepts?
(A) y=3(x+4)+2  (B) y=3(x-4) -2
(O y=-3(x+4Y+2 (D) y=-3(x~4)+2

15. Mark has 40 feet of lumber to enclose a rectangular flower garden. Which function
represents the area of the given flower garden, where x is the width of the garden?

(A) AQ)=—x>+40x  (B) Ax)=x"+ 40x

(€Y Ay=—=x>+20x (D) A(x)=x*+20x

16. Determine the following information from the graph,
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The trajectory of a rocket is represented by the function h(t) = — 4% + 16t + 20, where h is
height in meters and t is time in seconds.

(a) What is the initial height of the rocket before it takes flight?
{b) What is the height of the rocket after 3 seconds?
{¢) At what time does the rocket reach its maximum height?

(d) What is the maximum height reached by the rocket?



